Money Word Problems
Easy Addition and Subliraction
Math Worksheat 1

Brenda gives $3.00 to Martin. If Brenda
started with $6.00, how much money does
she have left?

After buying some stickers for $13.00,
Sean has $12.00 left. How much money did
Sean have to begin with?

Roy has $17.00 and Emily has $11.00. How
much more does Roy have than Emily?

After buying some crayons for $15.00,
Kelly has $15.00 left. How much money did
Kelly have to begin with?

After buying some apples for $19.00, Irene
has $3.00 left. How much money did Irene
have to begin with?
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Name:

Answer:

$6.00 - $3.00 = §3.00

AnSWer:

$13.00 + $12.00 = $25.00

Answer:

$17.00 - $11.00 = $6.00

Answer:

$15.00 + $15.00 = $30.00

Answer:

$18.00 + $3.00 = $22.00




